TRy HngAER (RE)

AT 54 2HA1TH(&HEHR) =g F R kX S
P mws e ww | oew | e | &8 |22 ms B muswE HE | e | oz | &8 | 2E g
EEHD A =iF| 0.1 1,620 — 1,296 | 5 | DB | && HF &L FHE| 3 | 4,104 — 2,160 | 10k | DB | &RE
P &L =F|32(2,808]|2,376 | 2,160 | 10k | pB | BB
ﬁ;ﬁfi’f ## 023,780 — |2,160]| 10« | o8 | &S
3,024 | 2,376 | 2,160 | 25 | k¥ | && EH #F# | 0.3 | 3,664 = 2,160 | 10k | DB | B&
NyZAAE | BE | 0.4
356 — 324 |400g | PC | R&E
uVHEE | =6 16| 1,612 — 864 | sk | Ky | && Fi AR | 0.2 | 432 | 378 | 356 |400g| PC | &
' B | — | 4,968 — 4,212 | sk |fes | ®&
7‘::13732%/&/1;\# . 43820 — |1,944| i« |f#| e
EEef | Eik 4,212 — 1,836 | 3 | oB | &5
v — | 454 — 432 1k | Rok| &&
avava e 2.8 | — 3,240 | — 13 | DB | &
YN EIDYD EiF| 1.4 | 432 _— 302 |270¢| Pc | &&
iR =i 0.1 432 — 324 |210g| Pc | B2
HEBED EE | 0.4 432 _— 270 |270¢| PC | BE
RENVDD =i 0.2 | 486 = 378 |210g| PC | &&
— 5,400 — 2F | ekt | BE
TRy | BiE | 0.4
12,960 — | 4,536 | 6% |i# | ®a
01
we | 2.4 t| BARTE 18 t




